What you will learn about: .
Solve by Factoring

Zero Product Property Solve: (x+1)[x—4)=0

a+*b = 0,theneithera=0o0r

b =0 or both. X+l=0 | X-9=0
Y=~ ¥= %

Solve: (bn—=2)(bn—1) =0
S5n-2-=o bn=| =D

Sn=2 on = |

i
Y!‘-'?:- V\:"J(;
Eshe—rxte——0—

Solve: (4p+ 3)(4p—-3) =0
‘1p+'b=o lho-'.b‘-o
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Solve: (x& 1)(;— 4—)P= 0.1
X=-1 x=9

Solve: 3p[(10p+7) =0
3p=0 | l0p¥T=o
f) = 0 10{) :."_f
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Solve: w(2w +3) =0

2w=->
-3

W= &

Solve: x2+2x—8=0

(x+4)(x-2) =D
w#=o X-2=0
Y=-4 X=X
Solve: b* +9b + 14 =0
(b+7)(bh) =0
b#7=2 bLil=o

b>"1 b=-X
Solve: 2y? = 13y + 45
Q)rL—- ]'Sy-‘?'S'T-O

(2y +9)(y - ; )10
Ay+5=0_o- o
Solve: %f-: {0c —8 Y =4
=10 +8=0

(ve -4 Y —2)=0
rgED- Esbel

softe: Bx? — 13% = 7x

Sy = 15%="Tx
5y "-20¥=0
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sx(x-4)=C
gy=0 X-=0
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Solve: 144q* = 25
|44g-25=0

(124-8)nys)=o

[dg-5=0 12¢t8%0

Solve: 36x% =121
BUx=12]z0

(Gx-1") (LxH) =0

Solve: (3@1) =3x

-5')(1-- BZx—8x +€ =5X

IxXI(x48 = DX
.L‘_"h‘ %A
Sy ~lUx+8=0

Solve: 2Zm+1)(m+3) = 12m
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Solve: (k+1)(k—1) =8
=
IK™-9=0

(I(-5)( K3)=0

X - 1Y%+~
fbx—l)(x -4
Ix-2 20 X-13
X=“]
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Solve: 8x? = 24x* — 18x
8%~ -2Ux"+ [8x =0
2x(4x-12x+ q) =0
T
Solve: 16y2 = 32y3 + 2y 1755’ 9 y-t=0 |4y-1=0
AR R o
QY(IGYL‘ ?)'-H =0

2 (t-{ *I)("I -;):0 & N
i'ucnl'x.nr\c_?:/tl-x21 16x+g4 X =Ay-tl=@

Yyt lox -840 (X-1)(x+D) =0

2x=0 ZX—BI 2x->0
=0 x<f X3

Y{x*-4y-21) =0 Mgl RS
4
Solve: jﬂaz —30 = —33a (,5{_ __2D (2" +S_): 7
8a "4 3¥5%-d =0 - = |o
. R AT 2etkS
(S‘\- L)(‘zf-'!‘s\ G&L'l""{\-!o =D G.'-'ﬁ} aa_%—:
e =
!-5*‘ .Eirjii'thcf two consecutive ingtegers is 132. Find
— X the integers. ) o D\ ( 2&)& __”) S
M X{(x+)= 13 X+ =
WY = 13X Y=-12  [X=}]
lhll =12, yi;yqblzo

The product of two consecutive integers is 240. Find the

integers. X(;(.;. ﬁ 224D 6@

YL‘J_X-:-.. 2"{0
X “#x-24v =0

(X + )(x-15)=0
Y=-lle ¥=I5
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A rectangluar garden as an area of 15 square feet. The
length of the garden is two feet more tha#n the width.
Find the length and width of the garden.

w=s f{=5

A rectangluar sign has an area of 30 square feet. The

length of the sign is one foot more thajn the width. Find
the length and width of the sign.

wlwy)=>0 =<te w=§
WHW =30 =D w=§
(w +(.ij -5)=0 2=¢

Justine wants to put a deck in the corner of her yard in the
shape of a right triangle, as shown below. The hypotenuse
will be 17 feet long. The length of one side will be 7 feet

less thatn the length of the other side. The the lengths of
the sides of the deck.

L
() = 17°
YL+YL~J‘1{ +19=

(x-15)(x+3) =
v=15 Y=<

A boat’s sail is a right triangle. The length of one side of
the sail is 7 feet more than the other side. The hypotenuse
is 13 feet. Find the lengths of the two sides of the sail.

e

Wlwt2)=1S (wis){u=2
M_ w=

wttw=15

W Fiw-15=0

D=0
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x 2x 1Yy - =
Y - 1X- 120 5[0
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A boat’s sail is a right triangle. The length of one side of
the sail is 7 feet more than the other side. The hypotenuse
is 13 feet. Find the lengths of the two sides of the sail.

A meditation garden is in the shape of a right triangle, with
one leg 7 feet long. The length of the hypotenuse is one
more than the length of one of the other legs. Find the
lengths of the hypotenuse and the other leg.
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